

## Research Article

Najla Altwaijry, Kais Feki, and Nicusor Minculete\*

# On Berezin norm and Berezin number inequalities for sum of operators

<https://doi.org/10.1515/dema-2023-0159>

received July 6, 2023; accepted February 9, 2024

**Abstract:** The aim of this study is to obtain several inequalities involving the Berezin number and the Berezin norm for various combinations of operators acting on a reproducing kernel Hilbert space. First, we present some bounds regarding the Berezin number associated with  $W^*Q + W^*Q'$ , where  $W$ ,  $Q$ , and  $Q'$  are three bounded linear operators. Next, several Berezin norm and Berezin number inequalities for the sum of  $n$  operators are established.

**Keywords:** Berezin number, Berezin norm, sum, inequality

**MSC 2020:** 47A30, 15A60, 47A12

## 1 Introduction

Many articles related to numerical radius of an operator or Berezin number of an operator on a reproducing kernel Hilbert space (RKHS) have been studied for their many applications in engineering, quantum computing, quantum mechanics, numerical analysis, and differential equations [1–9]. There are important results for the upper and lower bounds of Berezin number in the literature (see, e.g., [10–19]).

To characterize the Berezin number and the Berezin norm, we first present some concepts and properties of the bounded linear operators on a Hilbert space.

Let  $\mathcal{E}$  be a complex Hilbert space, endowed with the inner product  $\langle \cdot, \cdot \rangle$  and associated norm  $\|\cdot\|$ . Let  $\mathbb{L}(\mathcal{E})$  denote the  $C^*$ -algebra of all bounded linear operators on  $\mathcal{E}$ , with identity  $I$ . An operator  $Q \in \mathbb{L}(\mathcal{E})$  is called positive if  $\langle Qx, x \rangle \geq 0$  for all  $x \in \mathcal{H}$ , and then, we write  $Q \geq 0$ . If a bounded linear operator  $Q$  on  $\mathcal{E}$  is positive, then there exists a unique positive bounded linear operator denoted by  $Q^{\frac{1}{2}}$  such that  $Q = (Q^{\frac{1}{2}})^2$ . An important operator used is the absolute value of  $Q$ , denoted by  $|Q|$ , which is defined by  $|Q| = (Q^*Q)^{\frac{1}{2}}$ . It is easy to see that  $|Q| \geq 0$ . For  $Q \in \mathbb{L}(\mathcal{E})$ , we have the following numerical values: the operator norm  $\|Q\|$  given by  $\|Q\| = \sup_{x \in \mathcal{E}, \|x\|=1} \|Qx\|$  and the numerical radius of the operator  $Q$  defined by  $\omega(Q) = \sup_{x \in \mathcal{E}, \|x\|=1} |\langle Qx, x \rangle|$ . We remark that  $\omega(Q) \leq \|Q\|$ . When  $Q^*Q = QQ^*$ , we say that  $Q$  is a normal operator, which, in fact, shows us that  $|Q^*| = |Q|$  and  $\omega(Q) = \|Q\|$ . It is important to mention that the operator norm and the numerical radius norm are equivalent, because we have the inequalities:  $\frac{\|Q\|}{2} \leq \omega(Q) \leq \|Q\|$  for every  $Q \in \mathbb{L}(\mathcal{E})$ . We also have  $\omega(Q) \leq \omega(|Q|)$ . For some properties of the numerical radius, see, for example, [20–22] and references therein.

Let  $\Theta$  be a non-empty set and  $\mathcal{F}(\Theta, \mathbb{C})$  be the set of all functions from  $\Theta$  to  $\mathbb{C}$ , where  $\mathbb{C}$  is the field of the complex numbers. A set  $\mathcal{E}_\Theta$  included in  $\mathcal{F}(\Theta, \mathbb{C})$  is called a reproducing kernel Hilbert space (RKHS) on  $\Theta$  if  $\mathcal{E}_\Theta$

\* **Corresponding author: Nicusor Minculete**, Department of Mathematics and Computer Science, Transilvania University of Braşov, Braşov, 500091, Romania, e-mail: minculete.nicutor@unitbv.ro

**Najla Altwaijry:** Department of Mathematics, College of Science, King Saud University, P.O. Box 2455, Riyadh 11451, Saudi Arabia, e-mail: minculete.nicutor@unitbv.ro

**Kais Feki:** Laboratory Physics-Mathematics and Applications (LR/13/ES-22), Faculty of Sciences of Sfax, University of Sfax, Sfax 3018, Tunisia, e-mail: kais.feki@hotmail.com

is a Hilbert space (with identity  $I_\Theta$ ), and for every  $\lambda \in \Theta$ , the linear evaluation functional  $E_\lambda : \mathcal{E}_\Theta \rightarrow \mathbb{C}$  given by  $E_\lambda(f) = f(\lambda)$  is bounded. Using the Riesz representation theorem, we show that for each  $\lambda \in \Theta$ , there exists a unique vector  $k_\lambda \in \mathcal{E}_\Theta$  such that  $f(\lambda) = E_\lambda(f) = \langle f, k_\lambda \rangle$  for all  $f \in \mathcal{E}_\Theta$ . Here, the function  $k_\lambda$  is called the reproducing kernel for the element  $\lambda$ , and the set  $\{k_\lambda; \lambda \in \Theta\}$  is called the reproducing kernel of  $\mathcal{E}_\Theta$ . When  $k_\lambda \neq 0$ , we denote  $\hat{k}_\lambda = \frac{k_\lambda}{\|k_\lambda\|}$  for  $\lambda \in \Theta$  as the normalized reproducing kernel of  $\mathcal{E}_\Theta$  and we note that the set  $\{\hat{k}_\lambda : \lambda \in \Theta\}$  is a total set in  $\mathcal{E}_\Theta$ . For  $Q \in \mathbb{L}(\mathcal{E}_\Theta)$ , the Berezin symbol (or Berezin transform) of  $Q$ , which has been first introduced by Berezin [23,24], is the bounded function  $\tilde{Q} : \Theta \rightarrow \mathbb{C}$  defined by  $\tilde{Q}(\lambda) = \langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle$ . If the operator  $Q$  is self-adjoint ( $Q = Q^*$ ), then  $\tilde{Q}(\lambda) \in \mathbb{R}$ , and if the operator  $Q$  is positive, then  $\tilde{Q}(\lambda) \geq 0$ .

The Berezin symbol has been investigated in detail for the Toeplitz and Hankel operators on the Hardy and Bergman spaces; it is widely applied in the various questions of analysis and uniquely determines the operator (i.e., for all  $\lambda \in \Theta$ ,  $\tilde{Q}(\lambda) = \tilde{W}(\lambda)$  implies  $Q = W$ ). For further information about the Berezin symbol, we refer previously published articles [25–28] and references therein.

The Berezin set and the Berezin number of an operator  $Q$  are, respectively, defined by

$$\text{Ber}(Q) = \{\tilde{Q}(\lambda); \lambda \in \Theta\} \quad \text{and} \quad \text{ber}(Q) = \sup_{\lambda \in \Theta} |\tilde{Q}(\lambda)| = \sup_{\lambda \in \Theta} |\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|.$$

By some simple calculations, we obtain  $0 \leq \text{ber}(Q) \leq \omega(Q) \leq \|Q\|$  for all  $Q \in \mathbb{L}(\mathcal{E}_\Theta)$ . Karaev [1] showed that  $\frac{\|Q\|}{2} \leq \text{ber}(Q)$  does not hold for every  $Q \in \mathbb{L}(\mathcal{E}_\Theta)$ .

It is easy to see that  $\text{ber}(I_\Theta) = 1$  and  $|\langle Qk_\lambda, k_\lambda \rangle| \leq \text{ber}(Q)\|k_\lambda\|^2$ , for all reproducing kernels  $k_\lambda$ .

For every  $Q, W \in \mathbb{L}(\mathcal{E}_\Theta)$ , we have the following properties:

- (i)  $\text{ber}(\alpha Q) = |\alpha| \text{ber}(Q)$ , for all  $\alpha \in \mathbb{C}$ ;
- (ii)  $\text{ber}(Q + W) \leq \text{ber}(Q) + \text{ber}(W)$ .

From the aforementioned considerations regarding the Berezin number, it follows that  $\text{ber}(\cdot)$  is a norm on  $\mathbb{L}(\mathcal{E}_\Theta)$ . Similarly, for  $\text{ber}(Q)$ , the following concept can be found in [14,29]:  $c(Q) = \inf_{\lambda \in \Theta} \{|\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|\}$ .

For  $Q \in \mathbb{L}(\mathcal{E}_\Theta)$ , the Berezin norm of  $Q$  is given by

$$\|Q\|_{\text{ber}} = \sup\{|\langle Q\hat{k}_\lambda, \hat{k}_\mu \rangle|; \lambda, \mu \in \Theta\},$$

where  $\hat{k}_\lambda, \hat{k}_\mu$  are the two normalized reproducing kernels of the space  $\mathcal{E}_\Theta$  (see [30,31]). It is easy to see that  $|\langle Q\hat{k}_\lambda, \hat{k}_\mu \rangle| \leq \|Q\|_{\text{ber}}$  for all  $\hat{k}_\lambda, \hat{k}_\mu$ . It is important to note that  $\|\cdot\|_{\text{ber}}$  does not verify, in general, the submultiplicativity property (see [32]). It is important to mention that

$$\text{ber}(Q) \leq \|Q\|_{\text{ber}} \leq \|Q\|, \quad \forall Q \in \mathbb{L}(\mathcal{E}_\Theta). \quad (1.1)$$

It should be mentioned here that Inequalities (1.1) are in general strict. However, Bhunia et al. proved in [33] that if  $Q \in \mathbb{L}(\mathcal{E}_\Theta)$  is a positive operator, then

$$\text{ber}(Q) = \|Q\|_{\text{ber}}. \quad (1.2)$$

**Remark 1.1.** It is very crucial to mention that Relation (1.2) may not be true, in general, for self-adjoint operators (see [33]).

The objective of this study is to obtain several characterizations of Berezin numbers for various combinations of operators. To this end, this article is organized in the following manner: in Section 2, we collect a few results that are required to state and prove the results in the subsequent section. Section 3 contains our main results and presents several Berezin number inequalities regarding the Berezin number associated with the  $W^*Q + W^*Q'$  operator. Next, we study the Berezin norm and Berezin number inequalities for sum of operators.

## 2 Useful lemmas

The aim of this section is to collect some well-known lemmas that will be useful in proving our results. Throughout this article,  $(\mathcal{E}, \langle \cdot, \cdot \rangle)$  denotes a complex Hilbert space. The norm associated with  $\langle \cdot, \cdot \rangle$  will be denoted by  $\|\cdot\|$ .

Our starting lemma is proved in [34] and provides an improvement of the well-known Cauchy-Schwarz inequality.

**Lemma 2.1.** *Let  $x, y \in \mathcal{E}$  and  $v \in [0, 1]$ . Then,*

$$|\langle x, y \rangle|^2 \leq v(\|x\|^2 \|y\|^2 - |\langle x, y \rangle|^2) + |\langle x, y \rangle|^{2v} \|x\|^{2-2v} \|y\|^{2-2v} \leq \|x\|^2 \|y\|^2,$$

for any  $x, y \in \mathcal{E}$ .

Another result of the aforementioned type is given by Alomari [35], namely:

**Lemma 2.2.** *Let  $x, y \in \mathcal{E}$  and  $v \in [0, 1]$ . Then,*

$$|\langle x, y \rangle|^2 \leq v\|x\|^2 \|y\|^2 + (1-v)|\langle x, y \rangle| \|x\| \|y\| \leq \|x\|^2 \|y\|^2, \quad (2.1)$$

for any  $x, y \in \mathcal{E}$ .

For  $v = \frac{1}{2}$  in Inequality (2.1), we obtain, after rearranging the terms, the following inequality:

$$|\langle x, y \rangle|^2 \leq |\langle x, y \rangle| \|x\| \|y\| + \frac{1}{2}(\|x\|^2 \|y\|^2 - |\langle x, y \rangle|^2) \leq \|x\|^2 \|y\|^2,$$

for all  $x, y \in \mathcal{E}$ . This inequality is proved by Kittaneh and Moradi in [21], which is another refinement of the Cauchy-Schwarz inequality.

**Remark 2.1.** It follows from Inequality (2.1) that

$$|\langle x, y \rangle|^2 \leq \frac{1}{3}\|x\|^2 \|y\|^2 + \frac{2}{3}|\langle x, y \rangle| \|x\| \|y\|,$$

for all  $x, y \in \mathcal{E}$ .

The classical Schwarz inequality for a positive operator  $Q \in \mathbb{L}(\mathcal{E})$  is given as:

$$|\langle Qx, y \rangle|^2 \leq \langle Qx, x \rangle \langle Qy, y \rangle, \quad (2.2)$$

for any vectors  $x, y \in \mathcal{E}$ . Kato [36] established a companion of the Schwarz Inequality (2.2), which asserts

$$|\langle Qx, y \rangle|^2 \leq \langle |Q|^{2\theta} x, x \rangle \langle |Q|^{2(1-\theta)} y, y \rangle,$$

for every operator  $Q \in \mathbb{L}(\mathcal{E})$ , for any vectors  $x, y \in \mathcal{E}$ , and  $\theta \in [0, 1]$ . For  $\theta = \frac{1}{2}$  we obtain a result attributed to Halmos [37, pp. 75–76]:

$$|\langle Qx, y \rangle| \leq \sqrt{\langle |Q|x, x \rangle \langle |Q|^* y, y \rangle}, \quad (2.3)$$

for every  $Q \in \mathbb{L}(\mathcal{E})$  and for all  $x, y \in \mathcal{E}$ .

The inequality in the following lemma deals with positive operators and is known as the McCarthy inequality.

**Lemma 2.3.** [38, Theorem 1.4] *Let  $Q \in \mathbb{L}(\mathcal{E})$  be a positive operator and  $x \in \mathcal{E}$  be such that  $\|x\| = 1$ . Then, for all  $r \geq 1$ , we have*

$$\langle Qx, x \rangle^r \leq \langle Q^r x, x \rangle.$$

If  $0 \leq r \leq 1$ , then the aforementioned inequality is reversed.

The interesting inequality in the following lemma is proved by Buzano in [39].

**Lemma 2.4.** Let  $x, y, e \in \mathcal{E}$  be such that  $\|e\| = 1$ . Then,

$$|\langle x, e \rangle \langle e, y \rangle| \leq \frac{1}{2}(\|x\| \|y\| + |\langle x, y \rangle|).$$

In the next lemma, we recall a known inequality due to Bohr (see e.g. [40]).

**Lemma 2.5.** Let  $a_k$  be the positive real numbers for all  $i \in \{1, 2, \dots, d\}$ . Then, for all  $r \geq 1$ , we have

$$\left( \sum_{k=1}^d a_k \right)^r \leq d^{r-1} \sum_{k=1}^d a_k^r.$$

Our final lemma is given by Dragomir in [41].

**Lemma 2.6.** For any  $x, y, z \in \mathcal{E}$ , we have

$$|\langle x, y \rangle|^2 + |\langle x, z \rangle|^2 \leq \|x\|^2 (\max\{\|y\|^2, \|z\|^2\} + |\langle y, z \rangle|).$$

### 3 Main results

In this section, we denote by  $(\mathcal{E}_\Theta, \langle \cdot, \cdot \rangle)$  a RKHS on a set  $\Theta$  with associated norm  $\|\cdot\|$ .

Our first result in this article reads as follows.

**Theorem 3.1.** Let  $Q, Q', W \in \mathbb{L}(\mathcal{E}_\Theta)$ , and  $\nu \in (0, 1)$ . Then, we have

$$\begin{aligned} \text{ber}^2(W^*Q + W^*Q') &\leq \frac{2\nu(1-\nu)}{1+\nu-\nu^2} (\text{ber}(W^*Q) \|Q\|^2 + \|W\|^2)_{\text{ber}} + \text{ber}(W^*Q') \|Q'\|^2 + \|W\|^2)_{\text{ber}} \\ &\quad + \frac{1-\nu+\nu^2}{1+\nu-\nu^2} \|Q\|^4 + \|Q'\|^4 + 2\|W\|^4)_{\text{ber}}. \end{aligned}$$

**Proof.** We take the first inequality from Lemma 2.1:

$$|\langle x, y \rangle|^2 \leq \frac{\nu}{1+\nu} \|x\|^2 \|y\|^2 + \frac{1}{1+\nu} |\langle x, y \rangle|^{2\nu} \|x\|^{2-2\nu} \|y\|^{2-2\nu}, \quad (3.1)$$

for any  $x, y \in \mathcal{E}$  and  $\nu \in [0, 1]$ . If we replace  $x$  and  $y$  by  $Q\hat{k}_\lambda$  and  $W\hat{k}_\lambda$ , respectively, in (3.1), and we note that  $\|\hat{k}_\lambda\| = 1$ , then we have

$$|\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \leq \frac{\nu}{1+\nu} \|Q\hat{k}_\lambda\|^2 \|W\hat{k}_\lambda\|^2 + \frac{1}{1+\nu} |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^{2\nu} \|Q\hat{k}_\lambda\|^{2-2\nu} \|W\hat{k}_\lambda\|^{2-2\nu}.$$

Using the same idea as in [34], for the aforementioned inequality, we deduce

$$\begin{aligned} |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 &\leq \frac{\nu}{1+\nu} \langle |Q|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |W|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle + \frac{1}{1+\nu} |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^{2\nu} (\langle |Q|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |W|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle)^{1-\nu} \\ &= \frac{\nu}{1+\nu} \langle |Q|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |W|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle + \frac{1}{1+\nu} |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^\nu \langle |Q|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle^{1-\nu} \langle |W|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle^{1-\nu}. \end{aligned}$$

By applying the well-known Young inequality

$$a^\nu b^{1-\nu} \leq \nu a + (1-\nu)b, \quad a, b \geq 0, \quad \nu \in (0, 1)$$

to the aforementioned relation for  $a = |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|$  and  $b = \langle |Q|^2\hat{k}_\lambda, \hat{k}_\lambda \rangle$ , we obtain the following inequality:

$$\begin{aligned} & |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \\ & \leq \frac{\nu}{1+\nu} \langle |Q|^2\hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |W|^2\hat{k}_\lambda, \hat{k}_\lambda \rangle \\ & \quad + \frac{1}{1+\nu} (\nu |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| + (1-\nu) \langle |Q|^2\hat{k}_\lambda, \hat{k}_\lambda \rangle) (\nu |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| + (1-\nu) \langle |W|^2\hat{k}_\lambda, \hat{k}_\lambda \rangle) \\ & = \frac{\nu}{1+\nu} \langle |Q|^2\hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |W|^2\hat{k}_\lambda, \hat{k}_\lambda \rangle + \frac{\nu^2}{1+\nu} |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \\ & \quad + \frac{\nu(1-\nu)}{1+\nu} |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| \langle (|Q|^2 + |W|^2)\hat{k}_\lambda, \hat{k}_\lambda \rangle + \frac{(1-\nu)^2}{1+\nu} \langle |Q|^2\hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |W|^2\hat{k}_\lambda, \hat{k}_\lambda \rangle, \end{aligned}$$

which is equivalent to

$$\begin{aligned} & (1+\nu-\nu^2) |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \\ & \leq (1-\nu+\nu^2) \langle |Q|^2\hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |W|^2\hat{k}_\lambda, \hat{k}_\lambda \rangle + \nu(1-\nu) |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| \langle (|Q|^2 + |W|^2)\hat{k}_\lambda, \hat{k}_\lambda \rangle \\ & \leq \frac{1-\nu+\nu^2}{2} \langle (|Q|^4 + |W|^4)\hat{k}_\lambda, \hat{k}_\lambda \rangle + \nu(1-\nu) |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| \langle (|Q|^2 + |W|^2)\hat{k}_\lambda, \hat{k}_\lambda \rangle. \end{aligned}$$

Thus, we have

$$\begin{aligned} 2(1+\nu-\nu^2) |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 & \leq (1-\nu+\nu^2) \langle (|Q|^4 + |W|^4)\hat{k}_\lambda, \hat{k}_\lambda \rangle \\ & \quad + 2\nu(1-\nu) |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| \langle (|Q|^2 + |W|^2)\hat{k}_\lambda, \hat{k}_\lambda \rangle. \end{aligned} \quad (3.2)$$

Therefore, from the algebraic inequality  $|z_1 + z_2|^2 \leq 2(|z_1|^2 + |z_2|^2)$ , we deduce that

$$\begin{aligned} & (1+\nu-\nu^2) |\langle (W^*Q + W^*Q')\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \\ & (3.2) \leq 2(1+\nu-\nu^2) |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 + 2(1+\nu-\nu^2) |\langle W^*Q'\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \\ & \leq (1-\nu+\nu^2) \langle (|Q|^4 + |Q'|^4 + 2|W|^4)\hat{k}_\lambda, \hat{k}_\lambda \rangle \\ & \quad + 2\nu(1-\nu) [|\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| \langle (|Q|^2 + |W|^2)\hat{k}_\lambda, \hat{k}_\lambda \rangle + |\langle W^*Q'\hat{k}_\lambda, \hat{k}_\lambda \rangle| \langle (|Q'|^2 + |W|^2)\hat{k}_\lambda, \hat{k}_\lambda \rangle]. \end{aligned}$$

Taking the supremum over  $\lambda \in \Theta$  in the aforementioned inequality and taking into account that the operators  $|Q|^4 + |Q'|^4 + 2|W|^4$ ,  $|Q|^2 + |W|^2$ , and  $|Q'|^2 + |W|^2$  are positive, we obtain the inequality

$$\begin{aligned} & (1+\nu-\nu^2) \text{ber}^2(W^*Q + W^*Q') \\ & \leq (1-\nu+\nu^2) \| |Q|^4 + |Q'|^4 + 2|W|^4 \|_{\text{ber}} \\ & \quad + 2\nu(1-\nu) (\text{ber}(W^*Q) \| |Q|^2 + |W|^2 \|_{\text{ber}} + \text{ber}(W^*Q') \| |Q'|^2 + |W|^2 \|_{\text{ber}}). \end{aligned}$$

Hence, we have proved the inequality of the statement.  $\square$

**Remark 3.1.** For  $\nu \in \{0, 1\}$  in Inequality (3.1), we have  $|\langle x, y \rangle|^2 \leq \|x\|^2 \|y\|^2$ , and so  $|\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \leq \langle |Q|^2\hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |W|^2\hat{k}_\lambda, \hat{k}_\lambda \rangle$ . Therefore, from the algebraic inequality  $|z_1 + z_2|^2 \leq 2(|z_1|^2 + |z_2|^2)$ , we obtain

$$\begin{aligned} & |\langle (W^*Q + W^*Q')\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \leq 2 |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 + 2 |\langle W^*Q'\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \\ & \leq \langle (|Q|^4 + |Q'|^4 + 2|W|^4)\hat{k}_\lambda, \hat{k}_\lambda \rangle. \end{aligned}$$

Thus, we deduce the following:

$$\text{ber}^2(W^*Q + W^*Q') \leq \| |Q|^4 + |Q'|^4 + 2|W|^4 \|_{\text{ber}}. \quad (3.3)$$

**Theorem 3.2.** Let  $Q, Q', W \in \mathbb{L}(\mathcal{E}_\Theta)$  and  $\nu \in [0, 1]$ . Then,

$$\begin{aligned} \text{ber}^2(W^*Q + W^*Q') & \leq \nu \| |Q|^4 + |Q'|^4 + 2|W|^4 \|_{\text{ber}} + (1-\nu) \text{ber}(W^*Q) \| |Q|^2 + |W|^2 \|_{\text{ber}} \\ & \quad + (1-\nu) \text{ber}(W^*Q') \| |Q'|^2 + |W|^2 \|_{\text{ber}}. \end{aligned}$$

**Proof.** We consider the first inequality from Lemma 2.2:

$$|\langle x, y \rangle|^2 \leq \nu \|x\|^2 \|y\|^2 + (1 - \nu) |\langle x, y \rangle| \|x\| \|y\|,$$

for any  $x, y \in \mathcal{E}$  and  $\nu \in [0, 1]$ . The Hölder-McCarthy inequality can only be applied to positive operators, and the operators  $|Q|^2$  and  $|W|^2$  are positive. Now, we replace  $x$  and  $y$  by  $Q\hat{k}_\lambda$  and  $W\hat{k}_\lambda$ , in the aforementioned inequality, and we know that  $\|\hat{k}_\lambda\| = 1$ , then

$$\begin{aligned} & |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \\ & \leq \nu \|Q\hat{k}_\lambda\|^2 \|W\hat{k}_\lambda\|^2 + (1 - \nu) |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| \|Q\hat{k}_\lambda\| \|W\hat{k}_\lambda\| \\ & \leq \nu \langle Q\hat{k}_\lambda, Q\hat{k}_\lambda \rangle \langle W\hat{k}_\lambda, W\hat{k}_\lambda \rangle + (1 - \nu) |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| \sqrt{\langle Q\hat{k}_\lambda, Q\hat{k}_\lambda \rangle \langle W\hat{k}_\lambda, W\hat{k}_\lambda \rangle} \\ & = \nu \langle |Q|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |W|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle + (1 - \nu) |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| \sqrt{\langle |Q|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |W|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle} \\ & \leq \frac{\nu}{4} (\langle |Q|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle + \langle |W|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle)^2 + \frac{1 - \nu}{2} |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| (\langle |Q|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle + \langle |W|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle) \\ & \leq \frac{\nu}{2} (\langle |Q|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle^2 + \langle |W|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle^2) + \frac{1 - \nu}{2} |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| (\langle |Q|^2 + |W|^2 \rangle \hat{k}_\lambda, \hat{k}_\lambda) \\ & \stackrel{\text{McCarthy}}{\leq} \frac{\nu}{2} (\langle |Q|^4 \hat{k}_\lambda, \hat{k}_\lambda \rangle + \langle |W|^4 \hat{k}_\lambda, \hat{k}_\lambda \rangle) + \frac{1 - \nu}{2} |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| (\langle (|Q|^2 + |W|^2) \hat{k}_\lambda, \hat{k}_\lambda \rangle) \\ & = \frac{\nu}{2} (\langle (|Q|^4 + |W|^4) \hat{k}_\lambda, \hat{k}_\lambda \rangle) + \frac{1 - \nu}{2} |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| (\langle (|Q|^2 + |W|^2) \hat{k}_\lambda, \hat{k}_\lambda \rangle). \end{aligned}$$

Therefore, the inequality

$$\begin{aligned} 2 |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 & \leq \nu (\langle (|Q|^4 + |W|^4) \hat{k}_\lambda, \hat{k}_\lambda \rangle) \\ & \quad + (1 - \nu) |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| (\langle (|Q|^2 + |W|^2) \hat{k}_\lambda, \hat{k}_\lambda \rangle) \end{aligned} \quad (3.4)$$

is true. Consequently, from the algebraic inequality  $|z_1 + z_2|^2 \leq 2(|z_1|^2 + |z_2|^2)$ , we deduce

$$\begin{aligned} & |\langle W^*Q + W^*Q'\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \\ & \leq 2 |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 + 2 |\langle W^*Q'\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \\ & \stackrel{(3.4)}{\leq} \nu (\langle |Q|^4 + |Q'|^4 + 2 |W|^4 \rangle \hat{k}_\lambda, \hat{k}_\lambda) + (1 - \nu) |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| (\langle (|Q|^2 + |W|^2) \hat{k}_\lambda, \hat{k}_\lambda \rangle) \\ & \quad + (1 - \nu) |\langle W^*Q'\hat{k}_\lambda, \hat{k}_\lambda \rangle| (\langle (|Q'|^2 + |W|^2) \hat{k}_\lambda, \hat{k}_\lambda \rangle). \end{aligned}$$

Taking the supremum over  $\lambda \in \Theta$  in the aforementioned inequality and taking into account that the operators  $|Q|^4 + |Q'|^4 + 2 |W|^4$ ,  $|Q|^2 + |W|^2$  and  $|Q'|^2 + |W|^2$  are positive, we obtain the inequality of the statement.  $\square$

**Remark 3.2.** Through various particular cases of  $\nu$  in Theorem 3.2, we obtain some known results; thus, for  $\nu = 1$  in Theorem 3.2, we deduce Inequality (3.3), and for  $\nu = 0$ , we find

$$\text{ber}^2(W^*Q + W^*Q') \leq \text{ber}(W^*Q) \| |Q|^2 + |W|^2 \|_{\text{ber}} + \text{ber}(W^*Q') \| |Q'|^2 + |W|^2 \|_{\text{ber}}.$$

In particular, if  $Q = Q'$  in the last relation, we deduce the following inequality:

$$\text{ber}(W^*Q) \leq \frac{1}{2} \| |Q|^2 + |W|^2 \|_{\text{ber}}. \quad (3.5)$$

**Theorem 3.3.** Let  $Q, W \in \mathbb{L}(\mathcal{E}_\Theta)$  and  $\nu \in [0, 1]$ . Then,

$$\begin{aligned} \text{ber}^2(Q + W) & \leq \nu \| |Q|^2 + |W|^2 + |Q^*|^2 + |W^*|^2 \|_{\text{ber}} + (1 - \nu) \text{ber}(Q) \| |Q| + |Q^*| \|_{\text{ber}} \\ & \quad + (1 - \nu) \text{ber}(W) \| |W| + |W^*| \|_{\text{ber}}. \end{aligned}$$

**Proof.** Applying Inequality (2.3), we deduce the following relation:

$$|\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| \leq \nu \sqrt{\langle |Q|\hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |Q^*|\hat{k}_\lambda, \hat{k}_\lambda \rangle} + (1 - \nu) |\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|,$$

for any  $\nu \in [0, 1]$ . Multiplying by  $\sqrt{\langle |Q|\hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |Q^*|\hat{k}_\lambda, \hat{k}_\lambda \rangle}$  and taking into account that

$$|\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \leq \langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle \sqrt{\langle |Q|\hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |Q^*|\hat{k}_\lambda, \hat{k}_\lambda \rangle},$$

we find the following inequality:

$$|\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \leq \nu \langle |Q|\hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |Q^*|\hat{k}_\lambda, \hat{k}_\lambda \rangle + (1 - \nu) |\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| \sqrt{\langle |Q|\hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |Q^*|\hat{k}_\lambda, \hat{k}_\lambda \rangle}. \quad (3.6)$$

Because the operators  $|Q|$  and  $|Q^*|$  are positive, we can apply the McCarthy inequality; thus,  $\langle |Q|\hat{k}_\lambda, \hat{k}_\lambda \rangle^2 \leq \langle |Q|^2\hat{k}_\lambda, \hat{k}_\lambda \rangle$ ,  $\langle |Q^*|\hat{k}_\lambda, \hat{k}_\lambda \rangle^2 \leq \langle |Q^*|^2\hat{k}_\lambda, \hat{k}_\lambda \rangle$ . Therefore, Inequality (3.6) becomes

$$\begin{aligned} |\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 &\leq \frac{\nu}{4} (\langle |Q|\hat{k}_\lambda, \hat{k}_\lambda \rangle + \langle |Q^*|\hat{k}_\lambda, \hat{k}_\lambda \rangle)^2 + \frac{1 - \nu}{2} |\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| \langle (|Q| + |Q^*|)\hat{k}_\lambda, \hat{k}_\lambda \rangle \\ &\leq \frac{\nu}{2} (\langle |Q|\hat{k}_\lambda, \hat{k}_\lambda \rangle^2 + \langle |Q^*|\hat{k}_\lambda, \hat{k}_\lambda \rangle^2) + \frac{1 - \nu}{2} |\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| \langle (|Q| + |Q^*|)\hat{k}_\lambda, \hat{k}_\lambda \rangle \\ &\leq \frac{\nu}{2} \langle (|Q|^2 + |Q^*|^2)\hat{k}_\lambda, \hat{k}_\lambda \rangle + \frac{1 - \nu}{2} |\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| \langle (|Q| + |Q^*|)\hat{k}_\lambda, \hat{k}_\lambda \rangle. \end{aligned}$$

Hence, we deduce that

$$2 |\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \leq \nu \langle (|Q|^2 + |Q^*|^2)\hat{k}_\lambda, \hat{k}_\lambda \rangle + (1 - \nu) |\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| \langle (|Q| + |Q^*|)\hat{k}_\lambda, \hat{k}_\lambda \rangle.$$

Consequently, we have

$$\begin{aligned} |\langle (Q + W)\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 &\leq 2 |\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 + 2 |\langle W\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \\ &\leq \nu \langle (|Q|^2 + |Q^*|^2)\hat{k}_\lambda, \hat{k}_\lambda \rangle + (1 - \nu) |\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| \langle (|Q| + |Q^*|)\hat{k}_\lambda, \hat{k}_\lambda \rangle \\ &\quad + \nu \langle (|W|^2 + |W^*|^2)\hat{k}_\lambda, \hat{k}_\lambda \rangle + (1 - \nu) |\langle W\hat{k}_\lambda, \hat{k}_\lambda \rangle| \langle (|W| + |W^*|)\hat{k}_\lambda, \hat{k}_\lambda \rangle. \end{aligned}$$

Since  $\|\hat{k}_\lambda\| = 1$  and taking the supremum over all  $\lambda \in \Theta$  and taking into account that the operators  $|Q|^2 + |Q^*|^2$ ,  $|Q| + |Q^*|$ ,  $|W|^2 + |W^*|^2$ , and  $|W| + |W^*|$  are positive, the inequality of the statement is true.  $\square$

**Remark 3.3.** If we take  $\nu = \frac{1}{2}$  in Theorem 3.3, then we obtain the following sequence of inequalities:

$$2\text{ber}^2(Q + W) \leq \| |Q|^2 + |W|^2 + |Q^*|^2 + |W^*|^2 \|_{\text{ber}} + \text{ber}(Q) \| |Q| + |Q^*| \|_{\text{ber}} + \text{ber}(W) \| |W| + |W^*| \|_{\text{ber}}.$$

In all that follows, for any arbitrary operator  $Q \in \mathbb{L}(\mathcal{E}_\Theta)$ , we write

$$\Re(Q) := \frac{Q + Q^*}{2} \quad \text{and} \quad \Im(Q) := \frac{Q - Q^*}{2i}.$$

Thus, we have  $Q = \Re(Q) + i\Im(Q)$  and  $|\Re(Q)|^2 + |\Im(Q)|^2 = |Q|^2 + |Q^*|^2$ .

**Theorem 3.4.** If  $Q \in \mathbb{L}(\mathcal{E}_\Theta)$ , then the inequality

$$\text{ber}(\Re(Q) + \Im(Q)) \leq \sqrt{2} \text{ber}(Q)$$

holds.

**Proof.** It is easy to see that

$$|\langle (\Re(Q) + \Im(Q))\hat{k}_\lambda, \hat{k}_\lambda \rangle| \leq \sqrt{2} |\langle (\Re(Q) + i\Im(Q))\hat{k}_\lambda, \hat{k}_\lambda \rangle| = \sqrt{2} |\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle|.$$

Taking the supremum over all  $\lambda \in \Theta$ , we find that the inequality of the statement holds.  $\square$

**Remark 3.4.** If  $Q \in \mathbb{L}(\mathcal{E}_\Theta)$ , then from Relation (3.5) and knowing that  $\Im(Q)^* = \Im(Q)$ , we find

$$\text{ber}(\Im(Q)\Re(Q)) \leq \frac{1}{2} \| |Q|^2 + |Q^*|^2 \|_{\text{ber}}.$$

**Theorem 3.5.** If  $Q, Q_1, W, W_1 \in \mathbb{L}(\mathcal{E}_\Theta)$ , then the inequality

$$\|W_1^*(Q + W)Q_1\|_{\text{ber}} \leq \frac{\sqrt{2}}{2}(\text{ber}(Q_1^*(|Q| + i|W|)Q_1) + \text{ber}(W_1^*(|Q^*| + i|W^*|)W_1))$$

holds.

**Proof.** While proving a result from [42], we found the inequality

$$|\langle (Q + W)x, y \rangle| \leq \frac{\sqrt{2}}{2}(|\langle (|Q| + i|W|)x, x \rangle| + |\langle (|Q^*| + i|W^*|)y, y \rangle|),$$

where  $Q$  and  $W$  are the operators in a Hilbert space  $\mathcal{E}$ . Now, we take  $x = Q_1\hat{k}_\lambda$ ,  $y = W_1\hat{k}_\mu$ , where  $\lambda, \mu \in \mathbb{C}$ ; then, we obtain the following inequality:

$$|\langle W_1^*(Q + W)Q_1\hat{k}_\lambda, \hat{k}_\mu \rangle| \leq \frac{\sqrt{2}}{2}(|\langle Q_1^*(|Q| + i|W|)Q_1\hat{k}_\lambda, \hat{k}_\lambda \rangle| + |\langle W_1^*(|Q^*| + i|W^*|)W_1\hat{k}_\mu, \hat{k}_\mu \rangle|),$$

for four operators  $Q, Q_1, W, W_1$  in a RKHS  $H_\Theta$ . Taking the supremum over  $\lambda, \mu \in \mathbb{C}$ , we obtain the inequality of the statement.  $\square$

**Corollary 3.1.** If  $Q \in \mathbb{L}(\mathcal{E}_\Theta)$ , then the inequality

$$\|Q\|_{\text{ber}} \leq \frac{\sqrt{2}}{2}(\text{ber}(|\Re(Q)| + i|\Im(Q)|) + \text{ber}(|\Re(Q)^*| + i|\Im(Q)^*|))$$

holds.

**Proof.** It is easy to see that  $|W| = |iW|$ . In Theorem 3.5, we take  $Q_1 = W_1 = I$ ,  $Q = \Re(Q)$  and  $W = i\Im(Q)$ , to obtain the relation of the statement.  $\square$

**Theorem 3.6.** If  $Q, T, W \in \mathbb{L}(\mathcal{E}_\Theta)$ , then the inequality

$$\text{ber}^2 T^*(Q + W)T \leq \text{ber}(T^*Q^2T) + \text{ber}(T^*W^2T) + \frac{\sqrt{2}}{2}\text{ber}(T^*(|Q|^2 + |W|^2 + i(|Q^*|^2 + |W^*|^2))T)$$

holds.

**Proof.** Another inequality in the proof from [42] is the following:

$$|\langle (Q + W)x, x \rangle|^2 \leq |\langle Q^2x, x \rangle| + |\langle W^2x, x \rangle| + \frac{\sqrt{2}}{2}|\langle (|Q|^2 + |W|^2 + i(|Q^*|^2 + |W^*|^2))x, x \rangle|,$$

where  $Q$  and  $W$  are the operators in a Hilbert space  $\mathcal{E}$ . If we take  $x = T\hat{k}_\lambda$ , where  $\lambda \in \mathbb{C}$ , then we deduce

$$\begin{aligned} |\langle T^*(Q + W)T\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 &\leq |\langle T^*Q^2T\hat{k}_\lambda, \hat{k}_\lambda \rangle| + |\langle T^*W^2T\hat{k}_\lambda, \hat{k}_\lambda \rangle| \\ &\quad + \frac{\sqrt{2}}{2}|\langle T^*(|Q|^2 + |W|^2 + i(|Q^*|^2 + |W^*|^2))T\hat{k}_\lambda, \hat{k}_\lambda \rangle|, \end{aligned}$$

for three operators  $Q, T$ , and  $W$  in a RKHS  $H_\Theta$ . Consequently, taking the supremum over  $\lambda \in \mathbb{C}$ , we obtain the inequality of the statement.  $\square$

**Corollary 3.2.** If  $Q \in \mathbb{L}(\mathcal{E}_\Theta)$ , then the inequality

$$\text{ber}^2(Q) \leq \text{ber}(\Re(Q)^2) + \text{ber}(\Im(Q)^2) + \frac{\sqrt{2}}{2}\text{ber}(|\Re(Q)|^2 + |\Im(Q)|^2 + i(|\Re(Q)^*|^2 + |\Im(Q)^*|^2))$$

holds.



**Proof.** In Theorem 3.6, we take  $T = I$ ,  $Q = \Re(Q)$ , and  $W = i\Im(Q)$ , to prove the relation of the statement.  $\square$

Now, we will prove several results related to the sum of operators.

**Theorem 3.7.** Let  $Q_k \in \mathbb{L}(\mathcal{E}_\Theta)$  for all  $k \in \{1, 2, \dots, d\}$  with  $d \in \mathbb{N}^*$ . Then, for every  $r \geq 1$ , we have

$$\text{ber}^{2r} \left( \sum_{k=1}^d Q_k \right) \leq \frac{d^{2r-1}}{\sqrt{2}} \sum_{k=1}^d \text{ber}(|Q_k|^{2r} + i |Q_k^*|^{2r}).$$

**Proof.** Let  $\lambda \in \Theta$  and  $\hat{k}_\lambda$  be the normalized reproducing kernel of the space  $\mathcal{E}_\Theta$ . Using Lemmas 2.3 and 2.5, and Inequality (2.3), we see that

$$\begin{aligned} \left| \left\langle \left( \sum_{k=1}^d Q_k \right) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right|^{2r} &\leq \left( \sum_{k=1}^d |\langle Q_k \hat{k}_\lambda, \hat{k}_\lambda \rangle| \right)^{2r} \\ &\leq d^{2r-1} \sum_{k=1}^d |\langle Q_k \hat{k}_\lambda, \hat{k}_\lambda \rangle|^{2r} \\ &\leq d^{2r-1} \sum_{k=1}^d \langle |Q_k|^r \hat{k}_\lambda, \hat{k}_\lambda \rangle^r \langle |Q_k^*|^r \hat{k}_\lambda, \hat{k}_\lambda \rangle^r \\ &\leq d^{2r-1} \sum_{k=1}^d \langle |Q_k|^r \hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |Q_k^*|^r \hat{k}_\lambda, \hat{k}_\lambda \rangle. \end{aligned}$$

Moreover, since  $|Q_k|^r \geq 0$  and  $|Q_k^*|^r \geq 0$ , using the arithmetic-geometric mean inequality together with Lemma 2.3, we see that

$$\begin{aligned} \left| \left\langle \left( \sum_{k=1}^d Q_k \right) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right|^{2r} &\leq \frac{d^{2r-1}}{2} \sum_{k=1}^d (\langle |Q_k|^r \hat{k}_\lambda, \hat{k}_\lambda \rangle^2 + \langle |Q_k^*|^r \hat{k}_\lambda, \hat{k}_\lambda \rangle^2) \\ &\leq \frac{d^{2r-1}}{2} \sum_{k=1}^d (\langle |Q_k|^{2r} \hat{k}_\lambda, \hat{k}_\lambda \rangle + \langle |Q_k^*|^{2r} \hat{k}_\lambda, \hat{k}_\lambda \rangle) \\ &\leq \frac{d^{2r-1}}{\sqrt{2}} \sum_{k=1}^d |\langle |Q_k|^{2r} \hat{k}_\lambda, \hat{k}_\lambda \rangle + i \langle |Q_k^*|^{2r} \hat{k}_\lambda, \hat{k}_\lambda \rangle|, \end{aligned}$$

where we have used in the last inequality the well-known relation:  $|\alpha + \beta| \leq \sqrt{2} |\alpha + i\beta|$  for all real numbers  $\alpha$  and  $\beta$ . Hence, we infer that

$$\begin{aligned} \left| \left\langle \left( \sum_{k=1}^d Q_k \right) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right|^{2r} &\leq \frac{d^{2r-1}}{\sqrt{2}} \sum_{k=1}^d |\langle (|Q_k|^{2r} + i |Q_k^*|^{2r}) \hat{k}_\lambda, \hat{k}_\lambda \rangle| \\ &\leq \frac{d^{2r-1}}{\sqrt{2}} \sum_{k=1}^d \text{ber}(|Q_k|^{2r} + i |Q_k^*|^{2r}). \end{aligned}$$

Taking the supremum over all  $\lambda \in \Theta$  in the last inequality yields the desired result.  $\square$

**Remark 3.5.** By letting  $r = d = 1$  in Theorem 3.7, we obtain

$$\text{ber}^2(Q) \leq \frac{1}{\sqrt{2}} \text{ber}(|Q|^2 + i |Q^*|^2).$$

In order to establish our next result, we need the following elementary equality

$$\max\{a, b\} = \frac{1}{2}(a + b + |a - b|), \quad (3.7)$$

for every  $a, b \in \mathbb{R}$ .

**Theorem 3.8.** Let  $Q, W \in \mathbb{L}(\mathcal{E}_\Theta)$ . Then, the inequality

$$\text{ber}(Q + W) \leq \sqrt{\| |Q|^2 + |W|^2 \|_{\text{ber}} + \frac{1}{2} \text{ber}(|Q|^2 - |W|^2) + 2\text{ber}(W^*Q)}$$

holds.

**Proof.** Let  $\lambda \in \Theta$  and  $\hat{k}_\lambda$  be the normalized reproducing kernel of  $\mathcal{E}_\Theta$ . Then, we see that

$$\begin{aligned} |\langle (Q + W)\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 &\leq (|\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| + |\langle W\hat{k}_\lambda, \hat{k}_\lambda \rangle|)^2 \\ &= |\langle \hat{k}_\lambda, Q\hat{k}_\lambda \rangle|^2 + |\langle \hat{k}_\lambda, W\hat{k}_\lambda \rangle|^2 + 2|\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| |\langle W\hat{k}_\lambda, \hat{k}_\lambda \rangle| \\ &\stackrel{(\text{Lemma 2.6})}{\leq} \max\{\|Q\hat{k}_\lambda\|^2, \|W\hat{k}_\lambda\|^2\} + |\langle Q\hat{k}_\lambda, W\hat{k}_\lambda \rangle| + 2|\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| |\langle W\hat{k}_\lambda, \hat{k}_\lambda \rangle|. \end{aligned}$$

Furthermore, by applying (3.7), we obtain

$$\begin{aligned} |\langle (Q + W)\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 &\leq \frac{1}{2}(\|Q\hat{k}_\lambda\|^2 + \|W\hat{k}_\lambda\|^2 + \| |Q|^2 - |W|^2 \|) + |\langle Q\hat{k}_\lambda, W\hat{k}_\lambda \rangle| + 2|\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| |\langle W\hat{k}_\lambda, \hat{k}_\lambda \rangle| \\ &= \frac{1}{2}(\langle Q\hat{k}_\lambda, Q\hat{k}_\lambda \rangle + \langle S\hat{k}_\lambda, S\hat{k}_\lambda \rangle + |\langle T\hat{k}_\lambda, T\hat{k}_\lambda \rangle - \langle W\hat{k}_\lambda, W\hat{k}_\lambda \rangle|) \\ &\quad + |\langle Q\hat{k}_\lambda, W\hat{k}_\lambda \rangle| + 2|\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| |\langle W\hat{k}_\lambda, \hat{k}_\lambda \rangle| \\ &= \frac{1}{2}(\langle |Q|^2 + |W|^2 \rangle \hat{k}_\lambda, \hat{k}_\lambda) + |\langle (|Q|^2 - |W|^2)\hat{k}_\lambda, \hat{k}_\lambda \rangle| + |\langle W^*Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| + 2|\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| |\langle W\hat{k}_\lambda, \hat{k}_\lambda \rangle|, \end{aligned}$$

whence

$$\begin{aligned} |\langle (Q + W)\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 &\leq \frac{1}{2} \text{ber}(|Q|^2 + |W|^2) + \frac{1}{2} \text{ber}(|Q|^2 - |W|^2) + \text{ber}(W^*Q) + 2|\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| |\langle \hat{k}_\lambda, W\hat{k}_\lambda \rangle| \\ &= \frac{1}{2} \| |Q|^2 + |W|^2 \|_{\text{ber}} + \frac{1}{2} \text{ber}(|Q|^2 - |W|^2) + \text{ber}(W^*Q) + 2|\langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle| |\langle \hat{k}_\lambda, W\hat{k}_\lambda \rangle|, \end{aligned}$$

where we have used (1.2) in the last equality since  $|Q|^2 + |W|^2 \geq 0$ . Moreover, by applying Lemma 2.4 and the arithmetic-geometric mean inequality, we see that

$$\begin{aligned} |\langle (Q + W)\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 &\leq \frac{1}{2} \| |Q|^2 + |W|^2 \|_{\text{ber}} + \frac{1}{2} \text{ber}(|Q|^2 - |W|^2) + \text{ber}(W^*Q) + \|Q\hat{k}_\lambda\| \|W\hat{k}_\lambda\| + |\langle Q\hat{k}_\lambda, W\hat{k}_\lambda \rangle| \\ &\leq \frac{1}{2} \| |Q|^2 + |W|^2 \|_{\text{ber}} + \frac{1}{2} \text{ber}(|Q|^2 - |W|^2) + \text{ber}(W^*Q) + \frac{1}{2} \langle (|Q|^2 \\ &\quad + |W|^2)\hat{k}_\lambda, \hat{k}_\lambda \rangle + |\langle Q\hat{k}_\lambda, W\hat{k}_\lambda \rangle| \\ &\leq \frac{1}{2} \| |Q|^2 + |W|^2 \|_{\text{ber}} + \frac{1}{2} \text{ber}(|Q|^2 - |W|^2) + \text{ber}(W^*Q) + \frac{1}{2} \text{ber}(|Q|^2 + |W|^2) + \text{ber}(W^*Q). \end{aligned}$$

So, another application of (1.2) gives

$$|\langle (Q + W)\hat{k}_\lambda, \hat{k}_\lambda \rangle|^2 \leq \| |Q|^2 + |W|^2 \|_{\text{ber}} + \frac{1}{2} \text{ber}(|Q|^2 - |W|^2) + 2\text{ber}(W^*Q),$$

for every  $\lambda, \mu \in \Theta$ . Therefore, by taking the supremum over all  $\lambda, \mu \in \Theta$  in the aforementioned inequality, we obtain the desired result.  $\square$

In order to prove our next result, we need to recall the following inequality:

$$(a_1a_2 + b_1b_2)^2 \leq (a_1^2 + b_1^2)(a_2^2 + b_2^2), \quad \forall a_1, a_2, b_1, b_2 \in \mathbb{R}. \quad (3.8)$$

Our next result reads as follows.

**Theorem 3.9.** Let  $Q, W \in \mathbb{L}(\mathcal{E}_\Theta)$ . Then, the following inequality

$$\text{ber}^4(Q + W) \leq 4 \min\{\| |Q|^2 + |W|^2 \|_{\text{ber}} \| |Q^*|^2 + |W^*|^2 \|_{\text{ber}}, \| |Q|^2 + |W^*|^2 \|_{\text{ber}} \| |Q^*|^2 + |W|^2 \|_{\text{ber}}\}$$

holds.

**Proof.** Let  $\lambda \in \Theta$  and  $\hat{k}_\lambda$  be the normalized reproducing kernel of  $\mathcal{E}_\Theta$ . Using the convexity of the function  $t \mapsto t^2$ , we see that

$$\begin{aligned} | \langle (Q + W)\hat{k}_\lambda, \hat{k}_\lambda \rangle |^2 &\leq (| \langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle | + | \langle W\hat{k}_\lambda, \hat{k}_\lambda \rangle |)^2 \\ &\leq 2(| \langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle |^2 + | \langle W\hat{k}_\lambda, \hat{k}_\lambda \rangle |^2) \\ &= 2(| \langle Q\hat{k}_\lambda, \hat{k}_\lambda \rangle | | \langle \hat{k}_\lambda, Q^*\hat{k}_\lambda \rangle | + | \langle W\hat{k}_\lambda, \hat{k}_\lambda \rangle | | \langle \hat{k}_\lambda, W^*\hat{k}_\lambda \rangle |) \\ &\leq 2(\| Q\hat{k}_\lambda \| \| Q^*\hat{k}_\lambda \| + \| W\hat{k}_\lambda \| \| W^*\hat{k}_\lambda \|) \\ &= 2(\sqrt{\langle |Q|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle} \sqrt{\langle |Q^*|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle} + \sqrt{\langle |W|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle} \sqrt{\langle |W^*|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle}). \end{aligned}$$

This implies that

$$| \langle (Q + W)\hat{k}_\lambda, \hat{k}_\lambda \rangle |^4 \leq 4(\sqrt{\langle |Q|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle} \sqrt{\langle |Q^*|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle} + \sqrt{\langle |W|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle} \sqrt{\langle |W^*|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle})^2.$$

By choosing  $a_1 = \sqrt{\langle |Q|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle}$ ,  $a_2 = \sqrt{\langle |Q^*|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle}$ ,  $b_1 = \sqrt{\langle |W|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle}$ , and  $b_2 = \sqrt{\langle |W^*|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle}$  in the above inequality and then applying (3.8), we obtain

$$\begin{aligned} | \langle (Q + W)\hat{k}_\lambda, \hat{k}_\lambda \rangle |^4 &\leq 4(\langle |Q|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle + \langle |W|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle)(\langle |Q^*|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle + \langle |W^*|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle) \\ &= 4(\langle |Q|^2 + |W|^2 \rangle \hat{k}_\lambda, \hat{k}_\lambda)(\langle |Q^*|^2 + |W^*|^2 \rangle \hat{k}_\lambda, \hat{k}_\lambda) \\ &\leq 4\text{ber}(|Q|^2 + |W|^2)\text{ber}(|Q^*|^2 + |W^*|^2) \\ &= 4 \| |Q|^2 + |W|^2 \|_{\text{ber}} \| |Q^*|^2 + |W^*|^2 \|_{\text{ber}}, \end{aligned}$$

where we have used (1.2) in the last equality since we have  $|Q|^2 + |W|^2 \geq 0$  and  $|Q^*|^2 + |W^*|^2 \geq 0$ . By taking the supremum over all  $\lambda \in \Theta$  in the last inequality, we obtain

$$\text{ber}^4(Q + W) \leq 4 \| |Q|^2 + |W|^2 \|_{\text{ber}} \| |Q^*|^2 + |W^*|^2 \|_{\text{ber}}. \quad (3.9)$$

By choosing  $a_1 = \sqrt{\langle |Q|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle}$ ,  $a_2 = \sqrt{\langle |Q^*|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle}$ ,  $b_1 = \sqrt{\langle |W^*|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle}$  and  $b_2 = \sqrt{\langle |W|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle}$  and then proceeding as above, we see that

$$\text{ber}^4(Q + W) \leq 4 \| |Q|^2 + |W^*|^2 \|_{\text{ber}} \| |Q^*|^2 + |W|^2 \|_{\text{ber}}. \quad (3.10)$$

Combining (3.9) together with (3.10) yields to the desired result.  $\square$

**Acknowledgments:** The authors would like to thank the reviewers for their valuable comments and thorough review, which greatly helped enhance the quality of the final version of this manuscript. Additionally, the first author would like to express gratitude for the support received from the Distinguished Scientist Fellowship Program at King Saud University in Riyadh, Saudi Arabia. This program, under Researchers Supporting Project Number (RSP2024R187), funded this research.

**Funding information:** This article received financial support from the Distinguished Scientist Fellowship Program at King Saud University in Riyadh, Saudi Arabia, under Project Number (RSP2024R187).

**Author contributions:** The work presented here was carried out in collaboration between all authors. All authors contributed equally and significantly in writing this article. All authors have contributed to the manuscript. All authors have read and agreed to the published version of the manuscript.

**Conflict of interest:** The authors declare that they have no competing interests.

**Data availability statement:** No data were used to support this study.

## References

- [1] M. T. Karaev, *Reproducing kernels and Berezin symbols techniques in various questions of operator theory*, Complex Anal. Oper. Theory **7** (2013), 983–1018, DOI: <https://doi.org/10.1007/s11785-012-0232-z>.
- [2] M. Bakherad and U. Yamanci, *New estimations for the Berezin number inequality*, J. Inequal. Appl. **2020** (2020), 40, DOI: <https://doi.org/10.1186/s13660-020-2307-0>.
- [3] M. Bakherad, R. Lashkaripour, M. Hajmohamadi, and U. Yamanci, *Complete refinements of the Berezin number inequalities*, J. Math. Ineq. **13** (2019), no. 4, 1117–1128, DOI: <https://doi.org/10.7153/jmi-2019-13-79>.
- [4] M. T. Karaev and N. Sh. Iskenderov, *Numerical range and numerical radius for some operators*, Linear Alg. Appl. **432** (2010), 3149–3158, DOI: <https://doi.org/10.1016/j.laa.2010.01.011>.
- [5] M. T. Karaev and N. Sh. Iskenderov, *Berezin Number of operators and related questions*, Methods Funct. Anal. Topology **19** (2013), no. 1, 68–72.
- [6] H. Mustafayev, *The behavior of the orbits of power bounded operators*, Oper. Matrices **8** (2014), no. 4, 975–997, DOI: <https://doi.org/10.7153/oam-08-54>.
- [7] H. Mustafayev, *Differential inequalities in  $L_p$ -spaces*, J. Math. Anal. Appl. **411** (2014), no. 2, 887–901, DOI: <https://doi.org/10.1016/j.jmaa.2013.10.031>.
- [8] H. Mustafayev, *The essential spectrum of the essentially isometric operator*, Can. Math. Bull. **57** (2014), no. 1, 145–158, DOI: <https://doi.org/10.4153/CMB-2012-016-1>.
- [9] H. Mustafayev and F. B. Huseynov, *Compact operators in the commutant of essentially normal operators*, Banach J. Math. Anal. **8** (2014), no. 2, 1–15, DOI: <https://doi.org/10.15352/bjma/1396640047>.
- [10] S. Saltan, R. Tapdigoglu, and I. Çalisir, *Some new relations between the Berezin number and the Berezin norm of operators*, Rocky Mt. J. Math. **52** (2022), no. 5, 1767–1774, DOI: <https://doi.org/10.1216/rmj.2022.52.1767>.
- [11] R. Tapdigoglu, N. Altwaijry, and M. Garayev, *New inequalities via Berezin symbols and related questions*, Korean J. Math. **31** (2023), no. 1, 109–120, DOI: <https://doi.org/10.11568/kjm.2023.31.1.109>.
- [12] R. Tapdigoglu, M. Garayev, and N. Altwaijry, *Berezin symbol inequalities via Grüss type inequalities and related questions*, Turk. J. Math. **46** (2022), no. 3, 991–1003, DOI: <https://doi.org/10.55730/1300-0098.3137>.
- [13] M. T. Garayev and U. Yamanci, *Čebyševs type inequalities and power inequalities for the Berezin number of operators*, Filomat **33** (2019), no. 8, 2307–2316, DOI: <https://doi.org/10.2298/FIL1908307G>.
- [14] U. Yamanci, M. T. Garayev, and C. Çelik, *Hardy-Hilbert type inequality in reproducing kernel Hilbert space: its applications and related results*, Linear Multilinear Algebra **67** (2019), no. 4, 830–842, DOI: <https://doi.org/10.1080/03081087.2018.1490688>.
- [15] U. Yamanci and M. Garayev, *Some results related to the Berezin number inequalities*, Turk J. Math. **43** (2019), no. 4, 1940–1952, DOI: <https://doi.org/10.3906/mat-1812-12>.
- [16] U. Yamanci and I. M. Karli, *Further refinements of the Berezin number inequalities on operators*, Linear Multilinear Algebra **70** (2022), no. 20, 5237–5246, DOI: <https://doi.org/10.1080/03081087.2021.1910123>.
- [17] P. Bhunia, M. Garayev, K. Paul, and R. Tapdigoglu, *Some new applications of Berezin symbols*, Complex Anal. Oper. Theory **17** (2023), no. 6, 96, DOI: <https://doi.org/10.1007/s11785-023-01404-1>.
- [18] P. Bhunia, M. Gürdal, K. Paul, A. Sen and R. Tapdigoglu, *On a New Norm on the Space of Reproducing Kernel Hilbert Space Operators and Berezin Radius Inequalities*, Numer. Funct. Anal. Optim. **44** (2023), no. 9, 970–986, DOI: <https://doi.org/10.1080/01630563.2023.2221857>.
- [19] M. T. Karaev and R. Tapdigoglu, *On some problems for reproducing Kernel Hilbert space operators via the Berezin transform*, Mediterr. J. Math. **19** (2022), 1–16, DOI: <https://doi.org/10.1007/s00009-021-01926-y>.
- [20] P. Bhunia, S. S. Dragomir, M. S. Moslehian, and K. Paul, *Lectures on numerical radius inequalities*, Infosys Science Foundation Series in Mathematical Sciences, Springer, Berlin, 2022.
- [21] F. Kittaneh and H. R. Moradi, *Cauchy-Schwarz type inequalities and applications to numerical radius inequalities*, Math. Ineq. Appl. **23** (2020), no. 3, 1117–1125, DOI: <https://doi.org/10.7153/mia-2020-23-85>.
- [22] M. E. Omidvar and H. R. Moradi, *New estimates for the numerical radius of Hilbert space operators*, Linear Multilinear Algebra **69** (2021), no. 5, 946–956, DOI: <https://doi.org/10.1080/03081087.2020.1810200>.
- [23] F. A. Berezin, *Covariant and contravariant symbols for operators*, Math. USSR-Izv. **6** (1972), 1117–1151, DOI: <https://doi.org/10.1070/IM1972v006n05ABEH001913>.
- [24] F. A. Berezin, *Quantization*, Math. USSR-Izv. **8** (1974), 1109–1163, DOI: <https://doi.org/10.1070/IM1974v008n05ABEH002140>.
- [25] M. Bakherad, *Some Berezin number inequalities for operator matrices*, Czech. Math. J. **68** (2018), 997–1009, DOI: <https://doi.org/10.21136/CMJ.2018.0048-17>.
- [26] M. T. Karaev, *Functional analysis proofs of Abels theorems*, Proc. Amer. Math. Soc. **132** (2004), 2327–2329, DOI: <http://www.jstor.org/stable/4097459>.
- [27] M. T. Karaev and S. Saltan, *Some results on Berezin symbols*, Complex Var. Theory Appl. **50** (2005), no. 3, 185–193, DOI: <https://doi.org/10.1080/02781070500032861>.
- [28] E. Nordgren and P. Rosenthal, *Boundary values of Berezin symbols*, Oper. Theory Adv. Appl. **73** (1994), 362–368, DOI: <https://doi.org/10.1007/978-3-0348-8522-5>.

- [29] A. Sen, P. Bhunia, and K. Paul, *Berezin number inequalities of operators on reproducing kernel Hilbert spaces*, Rocky Mt. J. Math. **52** (2022), no. 3, 1039–1046, DOI: <https://doi.org/10.1216/rmj.2022.52.1039>.
- [30] P. Bhunia, A. Sen, and K. Paul, *Development of the Berezin number inequalities*, Acta. Math. Sin.-English Ser. **39** (2023), 1219–1228, DOI: <https://doi.org/10.1007/s10114-023-2090-1>.
- [31] M. T. Karaev, *Berezin symbol and invertibility of operators on the functional Hilbert spaces*, J. Funct. Anal. **238** (2006), 181–192, DOI: <https://doi.org/10.1016/j.jfa.2006.04.030>.
- [32] C. Conde, K. Feki and F. Kittaneh, *On some Berezin number and norm inequalities for operators in Hilbert and semi-Hilbert spaces*, In Matrix and Operator Equations and Applications; Mathematics Online First Collections. M. S. Moslehian, Ed., Springer, Cham, Switzerland, 2023, DOI: <https://doi.org/10.1007/16618>.
- [33] P. Bhunia, K. Paul, and A. Sen, *Inequalities involving Berezin norm and Berezin number*, Complex Anal. Oper. Theory **17** (2023), 7, DOI: <https://doi.org/10.1007/s11785-022-01305-9>.
- [34] N. Altwaijry, K. Feki, and N. Minculete, *On some generalizations of Cauchy-Schwarz inequalities and their applications*, Symmetry **15** (2023), no. 2, 304, DOI: <https://doi.org/10.3390/sym15020304>.
- [35] M. W. Alomari, *On Cauchy-Schwarz type inequalities and applications to numerical radius inequalities*, Ric. Mat. (2022), <https://doi.org/10.1007/s11587-022-00689-2>.
- [36] T. Kato, *Notes on some inequalities for linear operators*, Math. Ann. **125** (1952), 208–212, DOI: <https://doi.org/10.1007/BF01343117>.
- [37] P. R. Halmos, *A Hilbert Space Problem Book*, 2nd ed., Springer, New York, 1982.
- [38] T. Furuta, J. Mičić, J. Pečarić, and Y. Seo, *Mound-Pečarić method in operator inequalities*, Element, Zagreb, 2005.
- [39] M. L. Buzano, *Generalizzazione della diseguaglianza di Cauchy-Schwarz (Italian)*, Rend. Sem. Mat. Univ. e Politech. Torino **31** (1974), 405–409.
- [40] M. P. Vasić and D. J. Kečkić, *Some inequalities for complex numbers*, Math. Balkanica **1** (1971), 282–286.
- [41] S. S. Dragomir, *Some inequalities for the Euclidean operator radius of two operators in Hilbert spaces*, Linear Algebra Appl. **419** (2006), 256–264, DOI: <https://doi.org/10.1016/j.laa.2006.04.017>.
- [42] A. Zand Vakili and A. Farokhinia, *Norm and numerical radius inequalities for sum of operators*, Boll. Unione. Mat. Ital. **14** (2021), 647–657, DOI: <https://doi.org/10.1007/s40574-021-00289-2>.